Joooood wep-bes
WGP-DBS
goooooooooOooooooobOoooboooDbobOooo
gooooooobOOoOoooooboooobooooOoobDoD
gooooooooooooooooOooooooobobooono
gboooooooboooobooooooooboooo

gooo efgooos500020000000000000000OO
ogno 0 45,0000 efiooOOOOODOOOOOOOOOOOOOOOOO
oo O 50,0000 efjooO0oOoooOOoOoOoOOoOoOOOOOoOOOn

eACODOOODCODOOOODOOOODOOO
eDBSOOOOOOOODOODODOO AC2000VLO0O

gooo

eJO000O0O0O0O0OOOOOOO
eJO0O0OOODODODO

DC24v0O0 O 0O5,0000
ooooooooO O1,0000
o90sOoO0Oonoooo

ooooooooooo
obBDOOOOOOO

weP— |- |l |- |

O O O
O O
oooooao

oooooooo
o o0o0ao0ao
oooooood
o 0 0O O

o O
ooooo
o O

oD oood

ooooao
gooooo

Ooooogooo

DBD | 000000 goog
DBS | 00000 1 | AC800 132\ O [0 10001 120V[50/60Hz
2 | AC1700 264Y1 O 0 2000 240V 60/60Hz
oooo gooo 3 | DC24V+ 10%

10 | DCOCI 10mV 1MQ ooogd oogogog 7 | DC48V+ 10%
11 | DCOO 100mV 1MQ A | DC40 20mA 750Q0 O 8 | DC110V+ 10%
12 | DCOO 1V 1MQ B | DC10 5mA 3kQO O
13 | DCOO 5V 1MQ C | DC200 10mA 1.5kQ0 0
14 | DC10O 5V 1MQ D | DCOO 1mA 15kQ0 0
15 | DCOCI 10V 1MQ E | DCOO 10mA 1.5kQ0 0
16 | DCOC 50mV 1MQ F | DCoO 16mA 937Q0 0O
17 | DCOO 60mV 1MQ G | bCod 20mA 750Q0 O
31 | DCOCJ 100pA 100Q H | DC10 5V 2.5kQ0 0
32 | DCOO 1mA 100Q J | bcod 10mV 10kQ0 O
33 | DCOO 10mA 50Q K | DCoO 100mV 100kQ0 O
34 | DCOO 16mA 50Q L | DCod 1V 500Q0 O
35 | DCOOJ 20mA 50Q N | DCOLOI 5V 2.5kQ0 0
36 | DC40 20mA 50Q P | DCoO 10V 5kQ0 0

goooooooooooooo gooooooboooooboooon
99 | 10mVfsO O 300VfsO O S|oboogoilovOoO

10uAfsO 00 50mAfsd O 0o0ooog2omAdd

05020000000 63%fs0 00
+0.1%fs0230 000
000000000 2mADD

00 VisODOO 1wADD
00000000000000015v00
+10%fs03000000
0500550090%RHOOO00000000
1000000000000% 0.15%fs
100MQ 0 0 0 DC500v 0 0000
00000D000000000000000
0D0000000000000000
AC2000vV 100
00000D000000000000000
00000000000000000
0 4.5VA0 ACCO O 90mALD DCOI
+0.1%fs 0000+ 10%
105(H)x 25.6(W)x 136.5(D)mm
0 200g
000000000000000000000
00000000 M3S5000000
00000D000000000000Dn
0000000000 ABSD O O 94V-00

ooooooo

DINODOOOOOOOOOOO

e No| OO0 00
@nal 1 INPUT +
= 2 put | - | ZHED
3 NC ooo
4 NC ooo
5| OUTPUT | +
6 [outpur | - |~ HH0
7| POWER U®| o,
8 | POWER V()
oo%  gpoo 0%  gpon
100 100 ;---momz
63 63 3
o5 —=0 0 = ——=0
T=000

27





